Mathematics

FERIRE o
[th28% | —RAER) e

LHORID X 5T, Efky = —2x + 122038, ylilié 2N ZNHA,BTRboTWn5%, ¥

72, B AB EICxEAERaTH 5 HP%E & 0, i, ylllic 2 N Z NEHPQ,PR%E UL,

DL X, XOMWICE Z Ir &\,

D $IPQ,PROEX %, ZNEHaDRTHELE X\, !
\ﬁ\Pug,éh‘?L?:-l)('f/ZLl: bbwz“. \B
4=-2a+12 .. Pla,-2a+/2)
PR = -2q+/2
PR = 4 R P (4,-29+12)
A
-
o[ o o
y=-2x+12

@ PQ=PRL7%2%LE, ROMVICEZRI W,

1) RPOMIEER KD X\,
3a=1/2 . A=Y

= —2xl+2
=y
L Plyy)
2) ABPROHE#RDIm X\,
ABPR =2 cuxg
=Ib

B (0./12)

R ¥ Pl%Y)
(0.y%)

https://www.hokushinken.com




